Potty ziakov a tried v ZS k 15.9. 2016
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» triedy 4 2 3 3 2 2 2 5 2 3 4 32
= Ziaci 83 47 55 67 44 49 34 99 39 73 79 669
’3 integr.?. 1 1
E=]
= Spec.tr. 1 1 2
Ziaci Sp.tr. 8 6 14]
» triedy 4 2 3 3 2 3 1 3 2 3 4 30
= Ziaci 85 38 77 59 50 64 25 77 26 63 81 645
’2 integr.?. 1 1
:i Spec.tr. 1 1 2
Ziaci Sp.tr. 10 8 18]
» triedy 3 2 2 2 2 3 2 4 2 3 3 28
= ziaci 79 27 49 45 43 60 27 83 28 58 57 556
8 integr.7. 2 1 2 1 2 3 1 1 13
1=
- Spec.tr. 1 1 2
ziaci $p.tr. 8 9 17
» triedy 3 2 2 3 2 3 2 3 2 3 3 28
= Ziaci 69 31 51 65 30 61 26 68 32 63 58 554
’2 integr.z. 2 2 3 7 2 2 2 2 2 24
t=
< Spec.tr. 1 1 2
Ziaci $p.tr. 8 8 16
» triedy 3 2 2 2 2 2 1 3 1 3 3 24
= Ziaci 60 34 51 46 48 48 23 68 19 69 58 524
’§ integr.”. 3 4 1 3 1 4 2 2 1 2 23
S Spec.tr. 1 1
Ziaci §p.tr. 9 9
» triedy 2 1 2 2 1 2 1 3 1 2 2 19
- Ziaci 32 20 35 42 27 34 18 62 18 54 40 382
)§ integr.7. 1 1 4 4 2 4 2 2 3 3 2 28
N Spec.tr. 1 1
Ziaci $p.tr. 10 10
» triedy 2 1 2 2 2 2 1 2 1 2 2 19
- Ziaci 40 16 49 41 39 33 20 47 16 45 38 384
’§ integr.7. 3 3 5 1 2 4 3 2 3 4 30
=S Spec.tr. 1 1
Ziaci $p.tr. 9 9
» triedy 2 1 2 2 2 2 1 2 1 2 1 18
- Ziaci 35 21 46 36 33 27 24 52 15 45 22 356
8 integr.7. 1 1 1 5 2 4 4 4 3 3 28
t=
5 Spec.tr. 1 1
Ziaci Sp.tr. 5 5
» triedy 2 1 2 1 1 1 1 2 1 2 2 16
= Ziaci 38 14 31 21 23 11 10 44 17 39 30 278
)§ integr.7. 1 3 5 1 2 1 2 1 2 4 22
s Spec.tr. 1 1 2
ziaci §p.tr. 8 6 14
S triedy 25 14 20 20 16 20 12 27 13 23 24 214
1 ziaci 521 | 248 | 444 | 422 337 | 387 | 207 | 600 | 210 | 509 | 463 4348
@) integr.7z. 8 16 18 27 10 14 20 17 12 9 19 170
o Spec.tr. 8 0 0 0 0 0 0 2 4 0 14
& ziaci $p.tr. 70 0 0 0 0 0 0 11 31 0 112
POCET ZIAKOV| 521 | 318 | 444 | 422 | 337 | 387 | 207 | 600 | 221 | 540 | 463 4460
POCET TRIED | 25 22 20 20 16 20 12 27 15 27 24 228
Poé.odd. SKD 10 7 9 7 6 7 4 12 4 9 10 85
Pot.ziakov SKD 244 | 168 | 222 176 155 | 171 93 282 92 232 | 252 2087




